[image: image1.jpg]A
(DAL 425014
19,31 45):0.675(1 41)

27.(841)
[SPEST: 1S DRV AS I 2]
(2)60% 1 41):3.0(1 4>
(A 40 ESUE A PRI i 0 LB R K
i BL IR RO (K ¢ o L E SRR R
T 0 BL B 5 T R T R 1 )
COFBIEREQ D)
(5 3 BRR 1 B 1K B AR 00 B LA
W) CREH )

28.(641)

= (O YLARAE K o B9 TEIE h=

= X 1500m/5X0.

1s=75m(1 4}

BEE RS URERE S BEF KT 75m R
SR

P=P,+pgh=1.0X10'Pa+ 1, 03X 10'kg/m" X 10N/ kg

X 75m=8.725X10'Pa ash
)M KRBV = =3, 14X 57 X 12m" =
942m am
BEAPFERMNTAR

F=pgV=1.03 X 10°kg/m’ X 10N/kg X 942m’ =9.7x
10°N as

BRFZE N G=mg=2X10kgX 10N/kg=2X10'N
BARMEET N LS F AT S SHES
2 FEXS

F, =F—G=9.7X10°'N—2X10'§=7.7X10°N (1 4})

4X10N _ o,
. LIXION T

azsp

ATHR LA BTG R 0 A% N=

BATHRIMELCRE 6 MEH.
WEHE 2012 EH=HF
FHRESIRBEN(—)
LA 2.C 3.A 4A 5.C 6D 7.D 8C 9.8
10.¢
11.AD 12.CD 13.BCD 14, ABC

15.37.8C 7.5V Sy

16.30° 2m

17. %1 Wi

18. Rk KAUE
19,220V 178850 [
20.4# 500N
21.1.25X10'Pa 100W

(100 —20C)

=3.36X10']
_Qx_ Qs
O N

Q. __3.36X10"
7 0.25X3X10

AR KRAXRERE I
23.(6 4>

A ma = =0, 118(ke)

(1YW, =Gh=500NX 6m=3000]
(2)W, = FS=Fnh=200NX 3% 6m=3600]

@

(D2 /NEH 2 %)

(3)0.3A 0.75W

Hi% & -5
25. (441

AN R, 4 R 38

Bl U, =U

IR, = IRy

=Cy my 1= 1,)=4.2X10°]/(kg » €)X 10kgX

345

@45

@4
S% 2

asm

@4

15
14




[image: image3.jpg]zhongkao®zm




[image: image3.jpg]               天津中考信息资源门户网站  tj.zhongkao.com


[image: image4.jpg]


[image: image2.jpg]26.

27.

28.

14

FFEL R =(n—DR,

640

(DXR BB R K /DR
OXRSR:

14

14

o BRI KRN RHD V. e
[EISSTUETTIN TER LU Y
H Vs 14
c AEHHEARTREEAKE  LREN V.. 14
ORAHEEOESL 00 =iy 20
(22
14
o
i
Ha

DOIRER.
o S A L SR P

b G TF X K B B R, BT BB R MR EON

I 14
c PR BAME R M ERROREN L. 14
D RS R =R o4
© 4

_U_56 _
DI == 555=0.02(A) 14
(2)F=G5 =Gy +Ga =m.g+pa &Va
=6.5X10+0,7X10° X 10X 55X 10°
=450(N) 24
TR R E B B R 1200 2

6 =
1, R;:TZBZD'O:'(A) 14
VEH F ELLE ON~450N HFEH A 14+
WRKEFR R=300— 1 F 15
Ny

REH R 2012 £H P&
FUEBER(—)

LD 2C 3.C 4C 5A 6C
10.¢

7.B 8D 9. A

11.AD 12.ABD 13.ACD 14, ABD
15.72 %/

6.4 RHE

5.2X10°] BECHH— &K EREE)
EHRE R

12

17
18,
19. 100
20.1.2
B A
64
(DW=3X10"]

AR 2 5 R AREF 15 RARE SRR
145

(@)1=95C

ANEIE G KA ARER 1 5 RAKIE 2 40350
RSO 5)

. (6 45)

2.4
21.
22.

CDPBECS S B — AW 1 43 BTN I SRR 85
C2) 085, i vl B 2 431 52 7 2 C 6 o L OB KC B T )
(3)0.60(2) (3)4522 1 4]
24, (D EIBEC2 43
@4
a Tl PR R /DB BB A )
b ORI FH. IR, R REATERLRER N
BT S B O 5 B LR /NRR BT N B
MiE. (14
DB R L 16 PR/ ST N R
16, (150 R/NREE A 1 5 70, 200 ol SRR
HSRATEE R FUERX. 15
25. (DAL P &H G
@
FHR | WL AR AR [ REE 0] £ | AR
wan | oo | o lwroo] o | @ | o | an
| oe |
[ i |
e I





天津中考网 tj.zhongkao.com 版权所有 谢绝转载  

